SOCA(HN)-03

. West Be:igal State University
B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2015
- ~ PART-I -

SOCIOLOGY — HONOURS
| Paper — Il
{ NEW & OLD SYLLABUS ) _
Duration : 4 Hours ] [ Full Marks : 100

C&ndidates' are required to give their answers in their own words as far aé practicable, |

The figures in the margin indicate full marks. |

T3 IYPER e R T g
Sl AT S{ofeT G |

{ NEW SYLLABUS )
Group - A
_ o -
1.  Answer any one of the following within 1000 words : 1%x12=12
Fisa v (o b Tu3 SHRE Yooo WTrE W R -
a) What do you mean by changing agrarian s_oéial structure in India ? Discuss.

'WWWWWWﬁQW?WW|

b) Examine the changing nature of caste system in modern India.
YT TS GO ITAR ARSI e ffe s 3207 |
2.  Write short notes on any two of the following within 400 words : 2x5=10
R X G b SR SRS 800 TR Ty P Tt Frg -
a}  Sources of diversity in India
ST Ao Be
b) Middle ciass in India
ey wuive il
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K Hindu Marriaée Act
oy e g

d)  Policy of protective discrimination.

TS STFIS-07 M |
Group - B
| e - 9
3. Answer ény one of the following within' 1000 words : 1x12=12

e (v (@W o T9n SRS sooo Wwiw WOy i ¢
a) Write a note on problems of national unity in India.
GRS SIS 3 AR ST R e Bl B
b}  Define secularism. Discuss the nature of secularism in India.

wifvatereer s f?r—'n OISR RIS WW A |

4,  Write short notes on any two of the following within 400 words : . 2x5=10

TR T VT RIS SOt SRR Boo M ey SRR Bt vt -

a) Concept of pluralism

QAT q1ACH

b} - Decentralization of power

¢}  Religion and social change
o g e SAfFRET

d) Sarva Shiksha Abhiyan.
FRPPST SRS |
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e -

5.  Answer any one of the following within 1000 words ; ' o 1x12=12
e @ @ 9sha To RS Yooo *TwE Tog A ¢
a}  Indicate main pr_o;ﬁlems fécing by the tribal communities in India today.
AR A W TemmeRt e N W RS I g o T
FEA

b)  Write a note. on the status of women in Indian society today,

G OIS TR e Wi e o e o)
6.  Write short notes on any two of the following within 400 words : C2x%x5=10

ﬁmﬁ@ﬁ@a@mmﬁ@soowmmﬁmww

a)]  Distinctive features of tribal communities

SN SRR Toy e
b)  Gender inequality
¢}  Integrated Child Development Scheme (ICDS)

oI Rrsfam e

d} Domestic violence.

stk =&t

Group - D
st - @ -
~ 7. Answer any one of the fdllowing within 1000 words ; . 1x12= _12

Fisa (1 M o Ter wids vooo W 0T i

a)  Evaluate population policy and programmes in India.
RS TN A ¢ TP PR 39|

b}  Discuss the role of civil society organmatlons in social change in Indla

wwmmﬁﬁwwam‘ﬂ@ﬁaqﬁmwwn
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8.  Write short notes on any two of the following within 400 words : 2x5=10

6T 7 O WfT To SRR 8oo Wmvfﬁ%@ﬁm%ﬂf{
a) Infant mOrtahty

LRI
b}  Female-Male Ratio (FMR)
FR-oFTET TS
c} Consumer culture
Gorrerar AeFle
d) Nature of sccial movements,
AN SCRETAR 2FS |
' ' Group - E
_ o faeret - ¢ - .
9.  Write very short notes on any six of the following within 100 words : 6x2=12

ﬁmmmwﬂm@‘%mﬁﬁaoowww\ﬁwﬁmﬁvﬁ

a) Bases of umty in India

b) Industriah‘zation in India
SRS e
¢]  Middle class
warfee cafd
d) = Regionalism
1 pfeTrerRm
e)  Religious minorities
4T AV
f) Open distance learning
T )
g)  Gender role
h)  Fertility and culture
AT ¢ TFHS
i) Mass media
STy .
i) Right to Education Act (RTE).
Frwia Sy g
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West Bengal State University

B. A /B.Sc./B. Com. (Honours, Major, General) Exanimations, 2015

PART- I
SOCIOLOGY - Honours
o - Paper-1IV
{ New Syllabus )

Duration : 4 Hours Fuli Marks : 100
Candidates are required to give their answers in their own words as far as practicable.

The figures in the margtn indicate full marks.
TEa JAPTS e SRR 1= AN | '
AReR AL SR oree
Group - A
faotet -3

1. Answer any one of the following (within 1000 words ): - . 1x1i2=12
- 5 - o T 2Tm TR T ( Sooo T W ) 8 '

a)

Briefly discuss the nature of sociological theory.
MNEHSIG TG AFI© FATHCH TG T |

b} Trace the interrelationship of theory and research.
©G a2 AR A= BFs 9 |
2. Answer any two of the following (within 400 words ) : 2x5 =10

ﬁtﬂﬂ-@ﬂmvﬁ' m@mﬁm(soo*mmm)

. a}

)

c)

d)

What is meant by thcory ?

O O [ (R 2

In which ways theory is different from ideology ?

©% el oM (AT 99 ¢

Briefly explicate the fundamental notion of positivist philesophy.

w2 weftei GTfers wigett SRTmeel Ay S |

Write a note on macro-sociological theory.

%WW%@?@%WW;
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Group - B
et -<
3..  Answer any one of the following (withtn 1000 words ) : Ix12=12
53 - 93 2 By e ( Yooo WA WA ) 3
a) Write a note on Brown's structural fﬁncuonalism;

ISR FITNS TFaRm-4 SR @376 Tiant Bt 1

b) Briefly explain Parsons' notion of the social system,
AT TAIZ-] 4R HIW"T Il F9R |

4. Answer any two of the following (withinn 400 words ) : 2x5=10
e5a - ¥ #ivem Baw A ( 800 Tarm WA ) 3 I
a) How doe_s Merton criticise the basic postulates of functionalism ?
WG4 RrerR fFariem o ewrmefin A wEos @
'b) .. Differentiate between maglc and religion following Ma]inowski
R SR ay e o e fefy T
c} Write a brief note on the idea of middle range theory.
WIS BTYA DR Boid 1 fb ARee Bt forgw
d) What does Parsons mean by Pattern variables ?
B ‘Pattern variables' TS #RFR & IRTACH 2
' Group - C
_ faetst - ot
5, Answer any one of the following (within 1000 words } : 1x12=12
i (-t @l AmiR TR iR ( sooo AT T ) 8
 a) Write a note on ‘Coser's conflict functionalism.
IR Al BRI So <ol Bt Gref
b) Trace the influence of Marx and Weber on the development of conflict
theory.

Wﬁzﬁmmmwz‘fm@ 2R Hies 8 |
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6. Answer any {wo of th_e following (within 400 words ) : 2x5=10
e - b e Baa (i ( 8oo WrwA WG ) 8 '
a) Mention the fundamental propositions of conflict theory ?
TR (MR SPIRITLE ST 2 |
b) Why does Stmmel compare eonflict with 'Safety Valve' ?
Birser (@ 9 'Safety Valve'-43 Y e FLACH P
c) Write a brief note on Collins' notion of geepol!tlcs.
G- (Geopolitics) IS IR 4RIR Bo «old A<fves T et

'd) Briefly discuss the process of conflict in ICA as analysed by Dahrendorf.
TIRETIHR RO SFRIA! ICA (S 903 %S SRKUHA Gy T4 |

Group - D
fawie -9 _ :
7. Answer any one of the following (within 1000 words ) : 1x12=12
Reo3 (T-CI @TB 2ie S it ( s o00 Mow ey ) 3 |
a) How does Mead trace the development of self through social interaction ?
fire e amies MafFr argm weser ofFnfh Rewd FEe ¢
b) "Ethnomethodology is concerned with the organisation of everyday,

ordinary life.” Explain.
“ QARSI SR, MY SRR [eFd 6@ 17 ane T2+ 1

8. Answer any fwo of the following {within 400 words ) : 2x5=10
F53 -G ¥fE ersa TR 7 ( 800 ¥R WG ) 8
a) Write a brief note on neo-functionalism following Alexander
' meqwmﬁ\eﬂammﬁﬁﬁmﬁﬂa |

b) Briefly discuss the post-modernist critique of Metanarratives.
‘TR-FYT -7 TCR-NYAS STAMCAGH! RLHCH| SN T |

c} How does Giddens analyse the interdependence of structure and
agency ? P
Pirest RreIE A (Structure) I efﬁﬁﬁﬁ (Agency)d ARIRT Féwee
Rl ac ¢

d) Briefly reflect upon Goffman's notion of dramaturgy.
ABFTE TS ST TN L[N AT 2AATTwe 720 |
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Group - E
ot - ¢
9. Answer any six of the following (within 100 words ): 6x2=12
FTsa (-GNt s 208 B it ( S00 Mo TG ) ¢
i) What {s the importance of system levels in Malino_w_ski‘s functionalism 7
ST TR IR W o ¢
) What is-meant by function ? '
e <e1ce R Caray ¢ |
iii) What is micro-sociology ?
SIEeg & 2
iv) What does Merton mean by lateﬂt function ?
et faran 2acs wibw 7 gl ¢
V) What is charismétie authority ?
AT e b 2
vi) Wﬁat is meant by materialistic interpretation of history ?
Bfsrn 3 T A0S & @RI 2 ‘

vii) Why Dahrendorf has considered fu_.inctional analjrsis as ﬁtopia ?
TRENGE (P (AT [ SEiag a0 [Hoasal S ¢
viii) What does Blumer mean by symbolic interactionism ?
- ool e e g & IR 2 |
ix} ‘What does Goffman mean by back stage ?
oG (back stage) TECS FLW S AT ¢

X} What is deconstructldn ?

e s o
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